5 Cosine Law

January 5, 2019

5:55 PM

 

[image: image1.png]FOM 11 Ch 3/4— Day 5: THE COSINE LAW

THE SINE LAW: Can you use the Sine Law to find c? Or to find angles A or B?

THE LAW OF COSINES

The Law of Cosines: @ = B + & — 2bccosA

There are two cases when the Cosine Law can be used, when the given information is:
Case 1: two sides and the angle Case 2: all 3 sides

between them (“the included angle”)

Your memory trick to remember:
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[image: image11.png]CASE 1: GIVEN TWO SIDES AND THE INCLUDED ANGLE (SAS)

Example 1: In AABC, C = 30°, a =30 cm, and b =50 cm.
Find c to the nearest hundredth of a
centimetre.

Example 2: In AIKL, ) = 110°, k=3 m, /=4 m. Findj to nearest hundredth.

[Answer: 5.76 m]
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Example 3: In AXYZ, x=11.5,y = 9.3, and z = 16.9. Find the largest angle to the nearest
degree. z

y=93 x=115

z=169

Eample 4: In ADEF, d=8m, e =5m, f=10m. Find the smallest angle in the triangle to
the nearest tenth of a degree.

[Answer: 29.7°]

Assignment: Sec 3.3, p. 137 #4, 5, 7ac
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z=92-y--2aycossesidezisthelongest.
So angle 2 is the largest.
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